H £ 0l & AF & S

Al A

20248 =0il&t DIEHSE3H WS
SA: DED
& NGt #llst JA uSEE A=
ool SHIZ FX28 ZA(EXEAY SHaH) CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wsut 181,295 271,914 290,619
orNGt Eelst M8 NSEE 2= 181,295 271,914 290,619
SHIE X238t ZH(FUHEAE SE3IH) 181,295 271,914 /90,619
S8 SYFII HE 181,295 271,914 /90,619
101 21AH| 3,755 3,374 381
04 JIZtN2Z2XNSE+ 3,755 3,374 381
O3t &38| A2 (M=)
208,600 x22x1H+QIH 3,755
201 er2 3| 150,540 161,540 21,000
01 At2t2lt] 62,800 62,800 0
Oggt=3=H| 3,500
Ooul=tl 300,000& 10 3,000
OFIHHE S22t M
300,000& * 157K 4,500
O 82 HHX HH
50&%100,0000HK 5,000
O=&xt WeiE OXA K=
8800021302 A 2,640
OZE EH7Y 240, 00021 %44 25] 1,920
Ossed 2ERY(ETH, HaE, FY
)7 1,000
O=FXt=Al etitd Y
20,0003 *500H 10,000
OFI=Al AE7EsS 28 &1
30,000 »500H 15,000
OFx=X (01S4!) EXE
100,000 *50H 5,000
OFgHM & IINE nSAEE EXLEN
25,0003 *200H 5,000
O=HI(XIZAHI, AIEA)
8,00031* 12 »654 6,240
2 S22l 87,740 88,740 21,000
OZ33x2= € HMAl 26,840
CWEHE DXM RELS(SIIE)
2,530 +8,0000H 20,240
- BEHE DAA TS (2L
4302 *10,0000H 4,300
- NS XA 500,000 ~2CH 1,000
HIIBA =8 50,0002 «2CH 100
ASTH 282 600,000 2CH 1,200
OXteg = Al 16,000
A ==l 5,000,000 =2CH 10,000
e =R 3,000,000 2CH 6,000
O=FXt2Iet NEHS JHAAHIR =EHAIAE
== 150,000 122 1,800




od
i’
oF
uJ

S|S
nd 8|S
Klo AR
E
E=)

818 818
[N N} [N Ne)
N~ s|s
LH3r T
<
RIS
S S S S o] SI8I8 88 8 88|18 8
Yo} e0) © (@) Al QOO |O O O O OoO|o|o O
6 © oS © ¥ <|N|K oo dw|sS|s s
Wﬁ
<
b=
T W oW W @ A
= =5 = 9 8
g 8 3 8 5 &
or 8558 ®wAg B
X0 <o QY <Y M < o
m (S g e Swg s
- |z R RS 3 <k -
ST w8 s N2 g KT
< |5 BWBBE S5 T Ho )
I e i 5 i
X |z 3 X nH o oa = o5 =
S o o ¥y 7] oF
= |5 T o mm mAI ~ 4 ®)OKE 4 —
= [ ® = » T ;
I KON O R Wooa Wi_|
=@ & v 0 m Z R 8 = R|Z| K
F |- ®»m wmw v - = R I = -
o oE ow ow om K2 Y Bl
. |RO R0 OF T R0OOR W0 RO |gK =
= K- 100 10 A K- >4 S K K E K[| KF
®Wo1: = W = B R || w8 < Bn|m <
RO Jjm = = ur o KF || WA W W|=|= 0
. @) O O @) O O al= O O O O|l=|= O
= S z|3
I+




